Java 8 GC1 JMX monitoring template

JMX monitoring template for Zabbix 2.x and Java 1.8.0 G1 example

jdk8_g1_zabbix_jmx_template.xml

zbx_export.xml

<?xm version="1.0" encodi ng="UTF-8"?>
<zabbi x_export >
<versi on>2. 0</ ver si on>
<dat e>2016- 11- 09T16: 23: 54Z</ dat e>
<groups>
<group>
<nane>Tenpl at es</ nane>
</ group>
<group>
<nane>Tenpl at es</ nanme>
</ gr oup>
</ gr oups>
<t enpl at es>
<t enpl at e>
<t enpl at e>Tenpl ate JMX Gl</tenpl at e>
<nane>Tenpl ate JMX Gl</ name>
<descri ption/ >
<gr oups>
<group>
<nane>Tenpl at es</ nane>
</ group>
</ gr oups>
<appl i cations>
<appl i cation>
<nanme>Cl asses</ nane>
</ application>
<application>
<nane>Conpi | ati on</ nanme>
</ application>
<application>
<nanme>Gar bage Col | ect or </ name>
</ application>
<application>
<nane>Menor y</ nane>
</ application>
<application>
<nane>Menory Pool </ nane>
</ application>
<appl i cation>
<nane>Qper ati ng Systenx/name>
</ application>
<appl i cation>
<nanme>Runt i me</ nane>
</ application>
<appl i cation>
<nanme>Thr eads</ nane>
</ appl i cation>
</ applications>
<itens>
<itenp
<nane>cl Loaded C ass Count </ nane>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=d assLoadi ng&quot ; , LoadedC assCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
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<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cati ons>

<appl i cation>

<nanme>C asses</ nane>

</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinmefnt/>

</itenr
<itenp

<nane>cl Total Loaded O ass Count </ name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=C assLoadi ng&quot ; , Tot al LoadedCl assCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/ >
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>

<appl i cation>

<nanme>Cl asses</ nane>

</ application>

</ applications>



<val uenap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>cl Unl oaded O ass Count </ name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=d assLoadi ng&quot ; , Unl oadedC assCount] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<stat us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<application>
<nane>C asses</ nane>
</ application>
</ applications>
<val uenap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>conp Accunul ated time spent in conpilation</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>l</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Conpi | ati on&quot ;, Tot al Conpi | ati onTi ne] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<uni ts>s</units>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securi tyl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_pri vpassphrase/ >
<f or mul a>0. 001</ f or nul a>
<del ay_fl ex/>
<par ans/ >



<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Conpi | ati on</ name>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itener
<nanme>conp Name of the current JI T conpil er</nanme>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Conpi | ati on&quot ; , Nane] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>1</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Conpi | ati on</ nanme>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nane>gc Gl O d CGeneration accunul ated tinme spent in collection</nane>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>1</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Gar bageCol | ect or, name=GlL O d Cenerati on&quot ;, Col | ecti onTi ne] <
[ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>



<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<uni ts>s</units>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/ >
<f or mul a>0. 001</ f or nul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>

<appl i cation>

<nane>Gar bage Col | ect or </ nane>

</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>

</itenr
<itenp
<nanme>gc Gl O d Generation nunber of collections per second</nanme>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Gar bageCol | ect or, name=Gl O d Generati on&quot ;, Col | ecti onCount]
</ key>

<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<units/>
<del ta>1</del ta>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_|ink>
<applications>



<appl i cation>
<nane>Gar bage Col | ect or </ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nane>gc Gl Young Generation accunul ated tine spent in collection</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>1</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Gar bageCol | ect or, name=Gl Young Gener at i on&quot ; ,
Col | ecti onTi ne] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<uni t s>s</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<f or mul a>0. 001</ f or nul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<appl i cation>
<nane>Gar bage Col | ect or </ nanme>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenpr
<itenp
<nane>gc Gl Young Generation nunber of collections per second</name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &uot ; j ava. | ang: t ype=Gar bageCol | ect or, name=GL Young Cener ati on&quot ;,
Col | ecti onCount] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<units/>
<del ta>1</del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >



<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/>
<f ormul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_|ink>0</inventory_|ink>
<applications>
<application>
<nanme>Gar bage Col | ect or </ nanme>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nane>j vm Nanme</ nane>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &uot ; j ava. | ang: t ype=Runt i ne&quot ; , VmNane] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>1</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_link>0</inventory_Iink>
<applications>
<appl i cation>
<nane>Runt i me</ nane>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenpr
<itenp
<nane>j vm Upt i me</ nane>
<type>16</type>
<snnp_conmuni ty/ >



<mul tiplier>1</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Runt i ne&quot ; , Upt i ne] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>upti me</ units>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<f ormul a>0. 001</ f or nul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nanme>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>

<appl i cation>

<nanme>Runt i me</ nane>

</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>

</itenr
<itenp

<nane>j vm Ver si on</ nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Runt i ne&quot ; , VnVer si on] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>1</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/ >
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >



<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<application>
<name>Runt i ne</ name>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenr
<nane>nem Heap Menory conm tted</nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &uot ; j ava. | ang: t ype=Menor y&quot ; , HoapMenor yUsage. conmi t t ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<pri vat ekey/ >
<port/>
<descri ption/ >
<inventory_link>0</inventory_I|ink>
<applications>
<application>
<nane>Menor y</ nane>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>nem Heap Menory max</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , HoapMenor yUsage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >



<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/ >
<f or mul a>1</ f or nul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Menor y</ nane>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenr
<itenp
<nane>nem Heap Menory used</nane>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , HeapMenor yUsage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Menor y</ nane>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nanme>nem Non- Heap Menory conmi tted</ nane>



<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. commi t t ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nanme/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnmpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_|ink>0</inventory_|ink>
<applications>

<appl i cation>

<nanme>Menor y</ name>

</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>

</itenr
<itenp

<name>nem Non- Heap Menory max</ name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. nmax] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>



<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_link>0</inventory_I|ink>
<appl i cati ons>
<application>
<nane>Menor y</ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nane>nem Non- Heap Menory used</ nanme>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_pri vpassphrase/>
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Iink>
<applications>
<application>
<nane>Menor y</ nane>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nanme>nem Obj ect Pendi ng Finalization Count </ nanme>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , Obj ect Pendi ngFi nal i zat i onCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>



<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snmpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<f or mul a>1</f or nul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<applications>
<appl i cation>
<nane>Menor y</ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>np Code Cache conmmitted</nanme>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. conmi tt ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<applications>
<appl i cation>
<nane>Menory Pool </ name>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr



<itenp
<nane>np Code Cache max</nane>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<appl i cation>
<nane>Menory Pool </ name>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenpr
<itenr
<nane>np Code Cache used</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>



<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<description/>
<inventory_link>0</inventory_Ilink>
<applications>
<appl i cation>
<nane>Menory Pool </ name>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nane>np Conpressed C ass Space committed</nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage. conm tted] <
| key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<appl i cation>
<nane>Menory Pool </ name>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenpr
<itenp
<nane>np Conpressed C ass Space max</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &uot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>



<al | owed_host s/ >
<uni t s>B</uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cati ons>

<appl i cation>

<nane>Menory Pool </ name>

</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinmefnt/>

</itenr
<itenp

<nane>np Conpressed C ass Space used</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/ >
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>

<appl i cation>

<nane>Menory Pool </ name>

</ application>

</ applications>



<val uenap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>np Gl Eden Space conmitted</nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage. conmi tt ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<stat us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_I|ink>
<applications>
<application>
<nane>Menory Pool </ nane>
</ application>
</ applications>
<val uenap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>np Gl Eden Space max</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securi tyl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_pri vpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >



<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Menory Pool </ nanme>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itener
<nanme>np Gl Eden Space used</nane>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=GlL Eden Space&quot ;, Usage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<application>
<nane>Menory Pool </ nanme>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nanme>np GL O d Gen conmitted</name>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=GL O d Gen&quot ;, Usage. conmi tt ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>



<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nanme/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_f | ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_|ink>0</inventory_I|ink>
<appl i cati ons>

<appl i cation>

<nanme>Menory Pool </ nanme>

</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>

</itenr
<itenp

<name>np GL O d Gen nax</name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ; , Usage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cati ons>

<appl i cation>

<nanme>Menory Pool </ name>



</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nanme>np GL O d Gen used</nanme>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ;, Usage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_pri vpassphrase/>
<formul a>1</f or mul a>
<del ay_fl ex/ >
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<i nventory_link>0</inventory_I|ink>
<applications>
<application>
<nane>Menory Pool </ nanme>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nane>np Gl Survivor Space conmitted</nane>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage. conmitted] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>



<del ay_flex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<i nventory_link>0</inventory_I|ink>
<applications>
<appl i cation>
<nanme>Menory Pool </ nanme>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>np Gl Survivor Space max</name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage. max] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nanme>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<applications>
<appl i cation>
<nane>Menory Pool </ name>
</ appl i cation>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>np Gl Survivor Space used</nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage. used] </ key>
<del ay>60</ del ay>



<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_link>0</inventory_I|ink>
<applications>

<appl i cation>

<nane>Menory Pool </ name>

</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>

</itenpr
<itenr

<nane>np Met aspace committed</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. commi t t ed] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi st ory>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_|ink>
<applications>



<appl i cation>
<nane>Menory Pool </ name>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<name>np Met aspace nmax</ nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. nax] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/ >
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<appl i cation>
<nane>Menory Pool </ name>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenr
<itenpr
<nane>np Metaspace used</nane>
<t ype>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nmultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. used] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<uni t s>B</ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >



<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user name></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<pri vat ekey/ >
<port/>
<descri ption/ >
<inventory_|ink>0</inventory_|ink>
<applicati ons>
<appl i cation>
<nane>Menory Pool </ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenr
<nane>os Max File Descriptor Count</name>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst em&quot ; , MaxFi | eDescri pt or Count ] </ key>
<del ay>3600</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securi tyl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_|ink>0</inventory_|ink>
<applications>
<appl i cation>
<nane>Qper ati ng Systenx/nanme>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>0s Open File Descriptor Count</nanme>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >



<key>j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst enkquot ; , OpenFi | eDescri pt or Count ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securi tyl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/>
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane></ user nane>
<passwor d></ passwor d>
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Iink>
<appl i cations>

<application>

<nane>Qper ati ng Systenx/ name>

</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>

</itenp
<itenp

<nanme>o0s Process CPU Load</ nane>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>1</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst en&quot ; , ProcessCpulLoad] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>0</val ue_t ype>
<al | owed_host s/ >
<uni t s>%/ uni t s>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/>
<f or mul a>100</ f or nul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane/ >
<passwor d/ >
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >



<inventory_link>0</inventory_|ink>
<applicati ons>
<appl i cation>
<nanme>Qper ati ng Syst enx/ name>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>t h Daenmon Thread Count</nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , DaenonThr eadCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphr ase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_flex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane/ >
<passwor d/ >
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cati ons>
<appl i cation>
<nanme>Thr eads</ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
<itenp
<nanme>t h Peak Thread Count </ nane>
<type>16</type>
<snnp_conmuni ty/ >
<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , PeakThr eadCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >



<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprotocol >
<snnpv3_privpassphrase/>
<f ormul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane/ >
<passwor d/ >
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_|ink>0</inventory_|ink>
<applications>
<application>
<nanme>Thr eads</ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenp
<itenp
<nanme>t h Thread Count </ name>
<t ype>16</type>
<snnp_comuni ty/ >
<mul tiplier>0</nultiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , Thr eadCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vprot ocol >0</ snnpv3_pri vprot ocol >
<snnpv3_privpassphrase/ >
<formul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/>
<dat a_t ype>0</ dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane/ >
<passwor d/ >
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/ >
<inventory_link>0</inventory_Iink>
<applications>
<appl i cation>
<nane>Thr eads</ nane>
</ application>
</ applications>
<val uenmap/ >
<l ogtinefnt/>
</itenpr
<itenp
<nanme>th Total Started Thread Count </ nanme>
<type>16</type>
<snnp_conmuni ty/ >



<mul tiplier>0</multiplier>
<snnp_oi d/ >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , Tot al St art edThr eadCount ] </ key>
<del ay>60</ del ay>
<hi st ory>7</ hi story>
<trends>365</trends>
<st at us>0</ st at us>
<val ue_t ype>3</val ue_t ype>
<al | owed_host s/ >
<units/>
<del t a>0</ del t a>
<snnpv3_cont ext nane/ >
<snnpv3_securitynane/ >
<snnpv3_securityl evel >0</ snnpv3_securityl evel >
<snnpv3_aut hpr ot ocol >0</ snnpv3_aut hpr ot ocol >
<snnpv3_aut hpassphrase/ >
<snnpv3_pri vpr ot ocol >0</ snnpv3_pri vpr ot ocol >
<snnpv3_privpassphrase/ >
<fornmul a>1</f or mul a>
<del ay_fl ex/>
<par ans/ >
<i pm _sensor/ >
<dat a_t ype>0</dat a_t ype>
<aut ht ype>0</ aut ht ype>
<user nane/ >
<passwor d/ >
<publ i ckey/ >
<privat ekey/ >
<port/>
<descri ption/>
<inventory_link>0</inventory_Ilink>
<appl i cations>
<appl i cation>
<nanme>Thr eads</ nane>
</ application>
</ applications>
<val uemap/ >
<l ogtinefnt/>
</itenr
</itens>
<di scovery_rul es/ >
<macr os/ >
<t enpl at es/ >
<screens/>
</ tenpl at e>
</ tenpl at es>
<triggers>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , HeapMenor yUsage. used] . | ast (0) }
&gt ; ({Tenpl ate JMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , HeapMenor yUsage. max] . | ast (0) } *0. 8) </ expr essi on>
<nane>70% nmem Heap Menory used on {HOST. NAME} </ nanme>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/ >
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. used] . | ast (0) }
&gt ; ({Tenpl ate JMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. nax] . | ast (0) } *0. 8) </ expr essi on>
<nane>70% nmem Non- Heap Menory used on {HOST. NAME} </ name>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/ >
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. used]



last (0)}&gt; ({Tenpl ate JMX GL:j nx[ &uot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. max] .| ast (0)}*0. 8)
</ expr essi on>
<nane>80% np Code Cache used on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;
Usage. used] .l ast (0)}&gt; ({ Tenpl ate IJMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nanme=Conpr essed O ass Space&quot ;
Usage. max] .|l ast (0)}*0. 8) </ expressi on>
<nane>80% np Conpressed C ass Space used on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ;j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage
used] .l ast(0)}&gt; ({Tenplate IJMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , name=Gl Eden Space&quot ;, Usage. nax] . | ast
(0)}*0. 8) </ expressi on>
<nane>80% np Gl Eden Space used on {HOST. NAVE} </ name>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/ >
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=GlL O d Gen&quot ;, Usage. used]
last (0)}&gt; ({ Tenpl ate IJMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , name=GlL O d Gen&quot ;, Usage. nax] .l ast(0)}*0. 8)
</ expr essi on>
<nane>80% np GL O d Gen used on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ;j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage
used] .l ast(0)}&gt; ({Tenplate IJMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , name=Gl Survi vor Space&quot ;, Usage. max]
I ast (0)}*0. 8) </ expressi on>
<nane>80% np Gl Survivor Space used on {HOST. NAMVE} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/ >
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. used] .
last (0)}&gt; ({ Tenpl ate JMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , name=Met aspace&quot ; , Usage. max] .l ast (0)}*0. 8) <
/ expressi on>
<nane>80% np Met aspace used on {HOST. NAME} </ nanme>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>



<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst enkquot ; ,
QpenFi | eDescriptorCount].last(0)}&gt; ({Tenpl ate JMX GL: j nx[ &uot ; j ava. | ang: t ype=Oper at i ngSyst em&quot ; ,
MaxFi | eDescri ptor Count] .| ast(0)}*0.8) </ expression>
<nane>80% os Opened File Descriptor Count used on {HOST. NAVE} </ name>
<url/>
<stat us>0</ st at us>
<priority>3</priority>
<descri ption/>
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ; j ava. | ang: t ype=Oper at i ngSyst en&quot ; , ProcessCpulLoad] . | ast (0)}
&gt ; 0. 7</ expr essi on>
<nane>80% os Process CPU Load on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ;j ava. | ang: t ype=Gar bageCol | ect or, nane=GlL Young
Gener at i on&quot ; , Col | ectionCount].last(0)}& t;{Tenplate JMX GL:j nk[ &quot ; j ava. | ang: t ype=Gar bageCol | ect or,
name=GlL O d Generation&quot;, Col | ecti onCount]. | ast(0)}</expression>
<nanme>gc Gl in fire fighting node on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/ >
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Runt i ne&quot ; , Upti ne] . nodat a(5m } =1<
/ expressi on>
<nanme>j nx data from {HOST. NAME} is not reachable for 5 m nutes</name>
<url/>
<st at us>0</ st at us>
<priority>3</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , HeapMenor yUsage. comni tt ed] . | ast
(0)}={Tenpl ate JMX GL: j nx[ &uot ; j ava. | ang: t ype=Menor y&quot ; , HoapMenor yUsage. nmax] . | ast (0) } </ expr essi on>
<nanme>nem Heap Menory fully committed on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/ >
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. commi tt ed] .
last (0)}={Tenpl ate JMX GL:j nx[ &quot ; j ava. | ang: t ype=Menor y&quot ; , NonHeapMenor yUsage. nax] . | ast (0) } </ expr essi on>
<nanme>nem Non- Heap Menory fully committed on {HOST. NAMVE} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/>
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ;j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage.
committed] .l ast(0)}={Tenplate JMX Gl:j nmx[ &quot ; j ava. | ang: t ype=Menor yPool , name=Code Cache&quot ;, Usage. max] .| ast
(0)} </ expressi on>



<nane>np Code Cache fully committed on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/ >
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;
Usage. committed] .l ast(0)}={Tenpl ate JMX GL:j nx[ &quot ;j ava. | ang: t ype=Menor yPool , name=Conpr essed C ass
Space&quot ; , Usage. max] . | ast (0) } </ expr essi on>
<nane>np Conpressed Cl ass Space fully committed on {HOST. NAVE} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ;j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage
committed].last(0)}={Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage. nax] .
I ast (0) } </ expressi on>
<nanme>np Gl Eden Space fully committed on {HOST. NAME} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/ >
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ;, Usage
committed] .l ast(0)}={Tenpl ate JMX Gl:j nx[ &quot; j ava. | ang: t ype=Menor yPool , name=GL O d Gen&quot ;, Usage. maex] . | ast
(0) } </ expressi on>
<nanme>np GL O d Gen fully committed on {HOST. NAMVE} </ nane>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expression>{Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage
committed].last(0)}={Tenpl ate JMX Gl:j nx[ &quot ;j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot ;, Usage
max] . | ast (0)} </ expression>
<nanme>np Gl Survivor Space fully conmtted on {HOST. NAVE} </ nanme>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/ >
<type>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &uot ;j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage
comitted].last(0)}={Tenpl ate JMX Gl:j nx[ &quot ; j ava. | ang: t ype=Menor yPool , name=Met aspace&quot ; , Usage. max] . | ast
(0) } </ expressi on>
<nane>np Metaspace fully committed on {HOST. NAVE} </ nanme>
<url/>
<st at us>0</ st at us>
<priority>2</priority>
<descri ption/>
<t ype>0</type>
<dependenci es/ >
</trigger>
<trigger>
<expressi on>{Tenpl ate JMX GL: j nx[ &quot ;j ava. | ang: t ype=Conpi | ati on&quot ;, Name] . str(Client)}=1<
| expressi on>



<nane>{ HOST. NAME} uses suboptinal JIT conpil er</name>
<url/>
<st at us>0</ st at us>
<priority>1l</priority>
<descri ption/ >
<type>0</type>
<dependenci es/ >
</trigger>
</triggers>
<gr aphs>
<gr aph>
<nane>C ass Loader </ nane>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show wor k_peri od>
<show_tri ggers>1</show triggers>
<t ype>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ym n_type_1>0</ym n_type_1>
<ymax_t ype_1>0</ynmax_type_1>
<ymn_item1>0</ym n_item 1>
<ymax_i tem 1>0</ynmax_item 1>
<graph_i tens>
<graph_i tenp
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >EEOOEE</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenr
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=C assLoadi ng&quot ; , Tot al LoadedCl assCount ] </ key>
</itenr
</ graph_itenp
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=d assLoadi ng&quot ; , Unl oadedC assCount] </ key>
</itenpr
</ graph_iten>
<graph_i tenp
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=C assLoadi ng&quot ; , Loadedd assCount ] </ key>
</itenr
</ graph_iten>
</ graph_i tems>
</ graph>
<gr aph>
<nane>Fi | e Descri ptors</name>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>



<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_triggers>1</show_triggers>
<t ype>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| eft>
<per cent _ri ght >0. 0000</ per cent _ri ght >
<ym n_type_1>0</ym n_type_1>
<ymax_type_1>0</ymax_type_1>
<ymn_item1>0</ym n_item1>
<ymax_item 1>0</ymax_i tem 1>
<graph_i tenms>
<graph_i ten»
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst em&quot ; , MaxFi | eDescri pt or Count ] </ key>
</itenp
</ graph_itenr
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Oper at i ngSyst en&quot ; , OpenFi | eDescri pt or Count ] </ key>
</itenr
</ graph_iten>
</ graph_items>
</ graph>
<gr aph>
<name>Menory Gl O d Gen</nane>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_tri ggers>1</show triggers>
<t ype>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ym n_type_1>0</ym n_type_1>
<ymax_t ype_1>0</ynmax_type_1>
<ymn_item1>0</ymn_item 1>
<ymax_item 1>0</ymax_i tem 1>
<graph_i t ens>
<graph_i tenp
<sort order >0</sort order >
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ;, Usage. conmi tt ed] </ key>
</itenr
</ graph_iten>
<graph_i ten>
<sortorder>1</sortorder>



<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ;, Usage. max] </ key>
</itenr
</ graph_iten
<graph_i ten>
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl O d Gen&quot ;, Usage. used] </ key>
</itenp
</ graph_itenm>
</ graph_itens>
</ graph>
<gr aph>
<nane>Menory Pool Code Cache</nane>
<wi dt h>900</ wi dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_tri ggers>1</show_triggers>
<type>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ymi n_type_1>0</ym n_type_1>
<ymax_type_1>0</ymax_t ype_1>
<ymin_item1>0</ym n_item 1>
<ymax_item 1>0</ynmax_item 1>
<graph_i tems>
<graph_i ten>
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenp
<host >Tenpl ate JMX Gl</host>
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. conmi tt ed] </ key>
</itenp
</ graph_itenm>
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. max] </ key>
</itenr
</ graph_itenp
<graph_i ten>
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>



<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itene
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Code Cache&quot ;, Usage. used] </ key>
</itemr
</ graph_itenr
</ graph_items>
</ graph>
<gr aph>
<nane>Menory Pool Conpressed O ass Space</nane>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_triggers>1</show_triggers>
<t ype>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _l eft>
<per cent _ri ght >0. 0000</ per cent _ri ght>
<ym n_type_1>0</ym n_type_1>
<ymax_t ype_1>0</ymax_type_1>
<ymn_item1>0</ym n_item1>
<ymax_item 1>0</ymax_i tem 1>
<graph_i t emrs>
<graph_i ten»
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage.
commi tt ed] </ key>
</itenr
</ graph_itenp
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage. max] <
/ key>
</itenr
</ graph_iten>
<graph_i ten>
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Conpr essed C ass Space&quot ;, Usage. used] <
[ key>
</itenr
</ graph_itenp
</ graph_items>
</ graph>
<gr aph>
<nanme>Menory Pool Gl Eden Space</name>
<wi dt h>900</w dt h>



<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_tri ggers>1</show triggers>
<type>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ymi n_type_1>0</ym n_type_1>
<ymax_type_1>0</ymax_type_1>
<ymn_item1>0</ym n_item 1>
<ymax_i tem 1>0</ynmax_item 1>
<graph_i tenms>
<graph_i ten>
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenr
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=GlL Eden Space&quot ;, Usage. commi tt ed] </ key>
</itenr
</ graph_iten>
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Eden Space&quot ;, Usage. max] </ key>
</itenr
</ graph_iten>
<graph_i tenp
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenr
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=GlL Eden Space&quot ;, Usage. used] </ key>
</itenr
</ graph_iten>
</ graph_i tenms>
</ graph>
<gr aph>
<nanme>Menory Pool Gl Survivor Space</nane>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi smi n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show wor k_peri od>
<show_tri ggers>1</show triggers>
<type>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ percent _ri ght >
<ymi n_type_1>0</ym n_type_1>
<ymax_t ype_1>0</ynmax_type_1>
<ymn_item1>0</ymn_item 1>
<ymax_item 1>0</ymax_i tem 1>
<graph_i tems>



<graph_i ten»
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &uot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot ;, Usage.conmitted] <
/ key>
</itenr
</ graph_itenp
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host>
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot;, Usage. max] </ key>
</itenp
</ graph_itenr
<graph_i ten»
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Gl Survi vor Space&quot ;, Usage. used] </ key>
</itenr
</ graph_iten>
</ graph_items>
</ graph>
<gr aph>
<nane>Menory Pool Metaspace</nane>
<wi dt h>900</w dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_tri ggers>1</show triggers>
<t ype>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ym n_type_1>0</ym n_type_1>
<ymax_t ype_1>0</ynmax_type_1>
<ymn_item1>0</ymn_item 1>
<ymax_item 1>0</ymax_i tem 1>
<graph_i t ens>
<graph_i tenp
<sort order >0</sort order >
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. conmi t t ed] </ key>
</itenr
</ graph_iten>
<graph_i ten>
<sortorder>1</sortorder>



<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. nax] </ key>
</itenr
</ graph_iten
<graph_i ten>
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Menor yPool , nane=Met aspace&quot ; , Usage. used] </ key>
</itenp
</ graph_itenm>
</ graph_itens>
</ graph>
<gr aph>
<nanme>Thr eads</ nane>
<wi dt h>900</ wi dt h>
<hei ght >200</ hei ght >
<yaxi sm n>0. 0000</ yaxi sm n>
<yaxi smax>100. 0000</ yaxi smax>
<show_wor k_peri od>1</ show_wor k_peri od>
<show_tri ggers>1</show_triggers>
<type>0</type>
<show_| egend>1</ show_| egend>
<show_3d>0</ show_3d>
<percent _| ef t >0. 0000</ percent _| ef t >
<percent _ri ght >0. 0000</ per cent _ri ght >
<ymi n_type_1>0</ym n_type_1>
<ymax_type_1>0</ymax_t ype_1>
<ymin_item1>0</ym n_item 1>
<ymax_item 1>0</ynmax_item 1>
<graph_i tems>
<graph_i ten>
<sortorder>0</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >C80000</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<type>0</type>
<itenp
<host >Tenpl ate JMX Gl</host>
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , PeakThr eadCount ] </ key>
</itenp
</ graph_itenm>
<graph_i ten»
<sortorder>1</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >00C800</ col or >
<yaxi ssi de>0</ yaxi ssi de>
<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itenp
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , DaenonThr eadCount ] </ key>
</itenr
</ graph_itenp
<graph_i ten>
<sortorder>2</sortorder>
<dr awt ype>0</ dr awt ype>
<col or >0000C8</ col or >
<yaxi ssi de>0</ yaxi ssi de>



<cal c_fnc>2</cal c_fnc>
<t ype>0</type>
<itene
<host >Tenpl ate JMX Gl</ host >
<key>j nx[ &quot ; j ava. | ang: t ype=Thr eadi ng&quot ; , Thr eadCount ] </ key>
</itemr
</ graph_itenr
</ graph_items>
</ graph>
</ gr aphs>
</ zabbi x_export>
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